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* Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

® Please check that this question paper contains 36 questions.
Please write down the Serial Number of the question before attempting it.
15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

Heh o UaTT-11

SUMMATIVE ASSESSMENT-II
SCIENCE
i awg - 3 &2 : _ SAETT 3 : 90
Time allowed : 3 hours - Maximum Marks : 90
| e : . : :
() §9 9999 % & GFN, G~ 37 FK P, F aer 7 & 1 A 2 9 g o 3ev

foa & |

31/2/3 1 | [P.T.O.




(ii) #ﬁmwﬁw%/

(tii) WWW&WW&W&WWH#%

(tv) 3T T — 37 S T a%wﬁwﬁﬁ'mwwwﬁwwﬁi@##/

() - T FT G 3 %00 oy i E 1 57 SR O 917 ayerayy v ey o

() ST~ 37 3 5 G 4 7 6 F 0T qhqt o | e s s 30 AR g,

(vii) 9T~ 37 & v wew 7 9 18 ¥ T AT 37 & & | 3 g o 50 et oF o9

(viis) 5TFT — 37 % 797 G 19 7 24 3 gy qrerarer 3w % & | s9e 3y s 7p i g g

(ix) HT— & % 597 §=725 0 33 % W ST T TSR sefimed wey & 1 e

: m@rsﬁrwé‘/ﬁvwwﬁ%ﬁﬁ#.aﬂm%awqu#mﬁmwé/

(x) 9T - § 3 55T G=r 34 T 36 %mmwmwaﬂwﬁ###&ﬁ#%m%/
Fh ST AR AR E |

General Instructions :

(i) The’question paper comprises two Sections, A and B. You are to attempt both the
sections. :

(i)  All questions are compulsory.

(iii) T /zeré is no choice in any of the questions. ( : : :

(v) All questions of Section A and all questions of Section B are to be attempted

separately.

(v)  Question numbers 1 to 3 in Section A afe-one}-mark questions. These are to be

. answered in one word or in one sentence.
(Vi)  Question numbers 4 to 6 in Section A are two-marks questions. These are to be

answered in about 30 words each.

(vii) Question numbers 7 t{) 18 in Section A are three-marks questions. These are to be

answered in about 50 words each, -

- (viti) Question numbers 19 to 24 in Section A are five-marks questions. These are to be

31/2/3

answered in about 70 words each, :
(ix)  Question numbers 25 to 33 in Section B are multiple choice questions based on
practicdl skills. Each question is a one-mark question. You are to select one most
. | appropriate response out of the Jour provided to you.
(x)  Question numbers 34 to 36 in Section B are two-marks questions based on practical

skills. These are to bgz answered in brief
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What is a homologous series of carbon compounds ?

TTITOT S T TS gye =) e g ?

Why is fertilization not possible without pollination 7

AR ST (CFC)W@T&WWWWW@%?

Why is excessive use of CFCs a cause of concern ?
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The linear magnification produced by a sphencal m1rror is +3. Analyse thls value and
~ state the (i) type of mirror and (ii) position of the object with respect to the pole of the
mirror. Draw ray diagram to show the formation of image in this case.

o s T o e

List four causes of damage to forests.

me%?mﬁmw&?@m

What is sustainable development ? State its two main ObJCCtIVCS
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An organic compound ‘P’ is a constituent of wine. ‘P’ on reacting with acidified

K,Cr,0, forms another compound ‘Q’. When a piece of sodium is added to ‘Q’ a gas

‘R’ evolves which burns with a pop sound. Identify P, Q and R and write the chempcal

equations of the reactions involved.
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Write the name and molecular formula of an organic’ compound having its name
suffixed with ‘ol’ and having two carbon atoms in its molecule Write balanced

chemical equation to indicate what happens when this compound is heated with excess
conc. H,SO, and the name of main product formed. Also state the role of conc. H,S0,

in the reaction.
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The atomic number of an element ‘X’ is 19.

(a) Write its electronic configuration.

* (b) To which period of the Modern Periodic Table does it belong and what is its

valency ?

(¢) If X’ bumnsin oxygen to form its oxide, what will be its nature — acidic, basic or

neutral ?

(@D Write balanced chemical equation for the reactlon when this oxide is dissolved

in water.

wghmawa‘wwﬁém)%sﬁwﬁ (xx)mﬁmaﬁﬁaﬁ’rﬁsﬁwwavﬁﬁuqﬁ%m
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How does the frendency of the elements to lose electrons change in the Modem
Periodic Table in (i) a group, (ii) a period and why ?
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What happens when
(5) Planaria gets cut into two pieces ?

(b) A mature spirogyra filament attains considerable length ?

(c) Onmaturation sporangia burst ?

12. (a), T S S 6 %o g e s syfe e
@ T |
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Bl : (a) ~ Mention the role of the following organs of human male reproductive system :
} (i) Testis; (ii) Scrotum; (iii) Vas deferens; (iv) Prostate glands.

(b) What are the two roles of testosterone ?

s 2 S e g e e o 2 e ey o o o St
I | ; L _ | | | 3

What is Pollination ? List its two types.and write a distinguishing feature between the

two.

31/2/3 5 P.T.O.
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List three factors that provide evidences in favour of evolution in organisms and state

the role of each in brief. ,

37 e el o i o et g et 5wt v o e

Explain Mendel’s experiment with peas on inheritance of characters considering only
one visible contrasting character. ‘ ‘

= ¥ T Weleh Y seor e e ik

6) W%Wﬁémmﬁaﬁm% |

(ii) W%W@WWM% I

(i) - SFaRETEmE mﬁé%mwmmm% :
Explain in brief the reason fo; each of the following :

6y The sun appears reddish during sun-riseT

@) - At noon the Sun appears white.

(iii) To an astronaut the sky appears ﬂark instead of blue.

w&ﬁﬁﬁﬁxmﬁwaﬁmﬁaﬁﬁwﬁ%mﬁaﬁaﬁm%ﬁwmﬁ <o ik
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If the image formed by a lens for all posiﬁons of the object placed in front of it is
always virtual, erect and diminished, state the type of the lens. Draw a ray diagram in
support of your answer. If the numerical value of focal length of such a lens is 20 cm,

find its power in new cartesian sign conventions.

3123 : 6
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While discussing about coal and petroleum a teacher told his students about PCRA’s

(Petroleum Conservation Research Association) guidelines to save the fossil fuels

while driving vehicles. Deepa was going to her school with her mother who was

driving car. At the tfafﬁc signal, when the light was red, Deepa suggested her mother

to switch off the engine.

After reading the above passage, answer the following questlons

(a)
(b)
©

(a)

(b)
@

(b)

Fossil fuels are natural resources, then why do we need to conserve them ?
List any two ways of saving the fossil fuels.

State two values exhibited by Deepa.

meéﬁ%ﬁﬁqwaﬁ$mww&mﬁﬁq:
rﬁaﬁ(ﬁ%@?ﬂﬁ)m%?ﬁﬁﬁm%? L 5

Staté in brief the functions of the following organs in the human female

reproductive system :

Ovary, Fallopian tube, Uterus

What is menstruation ? Why does it occur ?
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What are micelles ? Why does it form when soap is added to water ? Will a micelle be

formed in other solvents such as ethanol also ? State briefly how the formation of

micelles help to clean the clothes having oily spots.

staren o & 2 % fow s o § ¢ sftrest 9 o Prife w0 S 9 Rt g
e 1 R e ) e e st 3 e 9 s o e S |

W'hai/t are fossils ? How are they formed ? List two methods of determining the age of

fossils. Explain in brief the importance of fossils in deciding the evolutionary

relatrionships.

6 cm 7 P R 31 20 om W 30 3 Rk s i @ et ot e ¢
SEHERT el 18 § 15 om G T o7 2 S a1 wifeiferm 1 9rest o uRester ST | '

: mmﬁmwmmW%mmm@mmmﬁml
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At what distance from a concave lens of focal length 20 cm a 6 cm tall object be
placed so as to obtain its image at 15 cm from the lens ? Also calculate the size of the
image formed.

Draw a ray diagram to justify your answer for the above situation and label it.

(a) Y WeHTer T Rerehuor o & 2 5 RO A |

(b) “TSUIT I F VHRT % [0 F T KEOT T 1 T FUT B G, ARG Y
HEE § SIH H THUT T S F P | el T & e % for
< ST ¥ Bt el ST | | .

(a) What is dispersion of white light ? Stae its cause.

(b) “Rainbow is an example of dispersion of sunlight.” Justify this statement by
explaining, with the helﬁ of a labelled diagram, the formation of a rainbow in the

sky. List two essential conditions for observing a rainbow.
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(a) Fﬁqﬁﬁq%mgﬁaﬁ%fwﬁwmvﬁaﬁmﬁqaﬁ 1 e T ufafers s |

®) ﬂ‘ﬁvﬁﬁ@ﬁqﬁrﬁqﬁwwmﬁ/ﬂmm%wﬁimmﬁwﬁ
|

© adwsmfm;ﬁmcmaﬁmcm%mwfmmmﬁwwm%m’

feﬁmmeﬁq!

Suppose you have three concave mirrors A, B and C of focal lengths 10 cm, 15 cm and
20 cm. For each concave mirror you perform the experiment of image formation for
three values of object distance of 10 cm, 20 cm and 30 cm. lemg reason answer the
following :

(a) For the three object distances, identify the mlrror/mlrrors which will form an
image of- magmﬁcatlon 1.

(b) Out of the three mirrors 1dentify the mirror which would be preferred to be used
,for shaving purposes/makeup. "

(¢) For the mirror B draw ray diagram for image forrnatlon for object d1stances
10 cm and 20 cm.

wma

SECTION - B

Tl § ot St T TR, o, Y, T, ey A d At E l@ﬁﬁﬁqm
TS it ot € 2

" () TSR, YRR SR A

(b) Wsﬁrlﬁﬁ

(e) TR, aTrqaﬁTzrrrar

(d) ST IR A

A basket of vegetables contains Carrot, Potato, Sweet potato, Radish, Tomato and
Brinjal. Which of them represent the homologous structures ?

~(a) Carrot, sweet potato and potato

(b) Radish and carrot

(¢) Carrot, potato and tomato

(d) Brinjal and radish

3123 - 9 | | [P.T.0.




26. MMW%W@WWWW%WWW%Wﬁ@%W
& Veror o fop e faeor

()  smmufaa feever & T €

(b) am%ﬁﬁsmaﬁfw%aﬁﬁwﬁ%a
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Inan expeﬂment to trace the path of a ray of 11ght through a tnangular glass prism, a
student meid Gbserve that the emergent ray

Ka) is parallel to the mc:ldent ray.

(b) is along the same direction of incid‘ent ray.

(c) gets deyiatéd and bends towards the thinner part of the prism. |

(d'} gets deviated and bends towards the thicker part (Base) of the prism.

'2_70 R w#ﬁ%wﬁqwm%ﬁaﬁwﬁa@m%wwmﬁ@ﬁmﬁw
%Wi%’aa’m'@waﬁ@ﬁl 2, 3@4ﬁm‘ﬂ#%%@mm qt i, Le, Lr T
mﬁawﬁmmaﬁmwm?

(@ 2,1,3,4

®) 1,2,3,4

© 1,3,2,4 , | ‘

@ 1,342 ' | | - 1
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A student has traced the path of a ray of light through a glass slab as follows. If you

are asked to label 1, 2, 3 and 4, the correct sequencing of labeling £i, Le Zr and
lateral displacement respectlvely is :

/
PENIPRTIIND SPEIN AU
33
"

@ 21,34

(o) 1,2,3,4
(© 1,3,2,4
(d 1,3,4,2

i 2 v e v e st o v P s s e o
T | A T T % e seEs W ke d

A Sl o o o o Ritew i T o i S

ofi7} ST T R BT ﬁ?ﬁ«%ﬁﬁﬁﬂﬁsﬁrﬁﬂwaﬂw I

B.
C ﬁﬁ%mﬁwwaﬁaﬁﬁm
D

siyen s = i dfg ﬁam@wﬁmmw&:a@ammﬁ
T | ‘

T =T T TE B R
(8 C,A,D,B
(0 C,D,A,B
() A,CD,B

(d AC,B,D

The students of a class were asked by the teacher to study the different parts of an

embryo of an angiosperm. Given below are the essential steps for the experiment :
- Soak the seeds in plain water and keep them overnight.
Cut open the soaked seed and observe its different parts.
Take some healthy seeds in a petri-dish.
Drain the excess water, cover the seeds with a wet cotton cloth and leave them as
it is for a day. :
The correct sequence of these steps is

(a) C,A,D,B
) C,D,AB
(c) AC,D,B
(d A,CB,D

312/3 11 b R ‘  [P.T.O.
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A student is testing water to know which is best for cleansing purposes with soaps. He
would find that the cleansing action of soaps is best when he uses water obtained from

(a) rain : :
(b) tap -

(c) hand pump

(d) pond:

30. frfafes w e sif:
() ife amae
) wosdd
() ARYM e

1v) ‘et
(V) @i #ad
(VD) =TT & ae
T | foRToh ST W s foar o wshar £ 9
(@ LILIILVI | |
by I,V,VI
(¢ ILIOLV,VI
(d ILHLVI ' 1
Consider the following oils : ‘
I Mobil oil
(D)  Castor oil
(III) Turpentine oil
(IV) Kerosene

| (V) Mustard oil
(VI) Coconut oil

- Which of these can be used for preparation of sdap ?

(2 LILIIL VI ' '
) ILV,VI
(¢ ILIILV,VI
(d) 1I,1I,vi
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The chemical mostly used in the preparation of most of the soaps we use is

(a) Sodium ‘chloride

(b) Potassium hydroxide

32.

()  Sodium hydroxide

(d) Potassium chloride

€ o R v X0 i w0, el g e 3 s ) e o € R &, g
Q20 cm T TR et 03 T IR ek e A ¥ 1 GRA K

(a) 10 cm I T 1 oA T

(b) 20 cm BT T I T T

(c) 10 cm i U AT W?\'&UT

(d) 20 cm HHH T F ST IO . 1

A student determines the focal length of a device ‘X’ by focusing the image of a

distant object on a screen placed 20 cm from the device on the same side as the object.

31/2/3

The device X’ is

(a) Concave lens of focal length 10 cm
®) Convex lens of focal length 20 cm‘
(c) | Concave mirror of focal length 10 cm
(d) Concave mirror of focal ‘length 20 cm

13 . [pTO.
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A 127cm
B. 29.7 em

' C. 577em |

D. 727em

woa o

(b) B

’(C) o

@D | - | 1

A teacher sets up the stand carrying a'convex lens of focal length 15 cm at 42.7 cm
mark on the optical bench. He asks four students A, B, C and D to suggest the position
of screen on the optical bench so that a distinct image of a distant tree is obtained -

almost immediately on it. The 'positions suggested by the students were as :

A 127cm
B. 297 c;ﬁ
C. 577cm o
D. 727cm

The correct position of the screen was suggested by |

(@ A
(b) B
©
@ D

31/2/3 S 14
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To find the image distance for varying object distances in case of a convex lens of
focal Iength 15 cm, a student obtains on a screen a sharp image of a bright object by
placing it at 20 cm distance from the lens. After that he gradually moves the object

away from the lens and each time focuses the image on the screen.

(@ In whiéh direction-towards or away from the lens does he move the screen to

focus the object ?

(b) How does the size of image change ?

| (¢) Approximately at what distance does he obtain the image of magnification 17

(d) How does the intensity of image change as the object moves farther and farther

away from the lens ?

+ o A e F e § Y o 3 o w1 o w w ¥ | A
wiferes Tormt aﬂ??ﬁmmaﬁqﬁaﬂlsg, Mrﬁﬁameb{quﬁ aq:ﬁ%ﬁzgﬁﬁﬁ
ﬁ'“i@qT'ﬂT%Q!

A studerit is studying the properties of acetic acid in his school laboratory. List two
physical and two chemical properties which he must observe and note in his record

book.

311213 - | 15 - v . [pTO.
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In which asexual reproduction two individuals are formed from a single parent and the
parental identity is lost ? Draw the initial and the final stages of this type of

reproduction to justify your answer. Write the event with which this process starts.

16.




